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SINCE THE PIONEERING BEKENSTEIN-HAWKING RESULTS,
PHYSICALLY MEANINGFUL  EVIDENCE HAS ACCUMULATED 
(e.g., HOLOGRAPHIC PRINCIPLE) WHICH MANDATES THAT
 
                     
                         lnWblack  hole   ∝  AREA 

THIS IS PERFECTLY ADMISSIBLE AND MOST PROBABLY CORRECT. 

HOWEVER, 

IS THIS QUANTITY THE THERMODYNAMICAL ENTROPY???







ENTROPIES
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     (S1 = SBG ) →  nonadditive if δ ≠ 1     C. T. (2009)
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   (Sq,1 = Sq;  S1,δ = Sδ ;  S1,1 = SBG )          C. T. (2011)       

                                                         →  nonadditive if (q,δ ) ≠ (1,1)
                                                                                  
                                                      C. T. and L.J.L. Cirto, Eur Phys J C 73, 2487 (2013)

See also: R. Hanel and S. Thurner,  EPL 93, 20006 (2011) and EPL 96, 50003 (2011) 
                R. Hanel, S. Thurner and M. Gell-Mann, PNAS 111, 6905 (2014) 



Various arguments (phenomenological, holographic principle, 
                                                       string theory, area law, etc) yield
          SBG (L) ≡ kB lnW (L)∝ Ld−1  (d >1)
hence

         W (L)∝Φ(L) ν Ld−1
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C.T. and L.J.L. Cirto, Eur. Phys. J. C 73, 2487 (2013)  
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              One-dimensional dissipative maps



LOGISTIC MAP: 



Lyapunov exponent of Logistic map  
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